EARAROBREBRT —5 XN—ZXBISH—F 2022128148 (K) 140F#38

m@mg C2 YSH—% BRI
[xE&] 15 :340,000H  23&:102,000H  3#&:51,000H  43%&:34,000H  53&:17,000 H
BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
180 | vr=vuuF—7 it 3 5751%%5 1:(4_4).8 2-3-1-1 |39.8| - 1 :1:324; @éfgjz(ﬁm)
RNRMOD B:PI=vIatyh fEH KX
S vy 4 | BEBED 1:45.3 5-5-3-2 [39.9| — 2 499 | EEEE (FH)
2 ARA R ZA 2 1/2) g | TETED h
ROUIAI—2 8:TSAIIWT—4 EpLe]
o <, ALEFHSEE : -7-6- - ZEEX (BEHE
3Bl 3 | A RIN—F0D o4 2 1.6166).6 7-7-6-3 | 40.4 3 (4_952) zﬁzﬂﬂrﬁ,ﬁ( )
R:bkofoO0—-U— 8:2N—-FVTH-) P ERS
R)l1zd : -6-7- - BIRIER (81
411 wouy 6 R 1(.14/62.)7 6-6-7-6 | 40.4 7 (4_673) 515 A
RIN—YISA BIL—tS #HBET7—L
UUTRTES BEEZ :47. -2-4- . - KEFEKR (1)
5/5/5| b—tv/tyy 7R RS IR R M IRE T
Rib—EYISA b BUI-—hTq—X HESH IRFAT7—L
617 7| FV=IFYaT 4 %I%ﬁi 1:{13%.1 4-4-2-4 |43 - | 5 (4_753) Egga (%42)
R:IRTVFLY B:2ORU—/NT BT I H DK
»— j it 7 | SHEK 1:48.3 8-8-8-8 | 41.0| — 6 | 466 | DDEEEER (%A
76| 7AT7F—T =D * %.0 ) 1 | @ SELTASUR
KR:O0-LiLrv40 B:I7Y7 HER BX
e oy G t 5 | BAMEE 1:49.4 1-1-5-7 | 44.6 | — 8 | 464 |EHIES (¥4
) - el ! 54.0 ) @ | B Ir—2revay
RiZRIAVL—Y B:TVEATY INEERY =L
@ 11— —&@BIEf:I
13—7F— 4,(2,5),7,8,1,3,6
20—7F— 4,5,2,7,8,1,3,6
30—+— |(2,7,8,5,4,3,1,6
40— — 2,8,3,7,5,1,4,6
[ BN
B s 2 1901 | | 91 & 2-8 1104 F5 & 2-8 150M4 3EE 2-3-8 270
B B 2 100/ 2-3 200/ =] 2-8 3009 3&EE 2-8-3 860
8 100 3-8 180M
3 140

ABIC OV TRUTEREERRODDZE. THRIIZEL.



